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Check each answer. Determine if the answer is 'correct' or 'not'.

Division problems can be
checked by multiplying the

quotient by the divisor and then
adding the remainder.

If the answer is the same as the
dividend, it is correct.

263 ÷ 8 =32 r7

32
8

256
7

263

×

+

182 ÷ 6 =29 r5

29
6

174
5

179

×

+

1) 441÷5 = 88

×

88

5

+

440

0

440

2) 324÷9 = 46 r2

×

46

9

+

414

2

416

3) 833÷6 = 138 r5

×

138

6

+

828

5

833

4) 455÷3 = 151

×

151

3

+

453

0

453

5) 469÷2 = 234 r1

×

234

2

+

468

1

469

6) 732÷5 = 146 r2

×

146

5

+

730

2

732

7) 195÷9 = 21 r6

×

21

9

+

189

6

195

8) 431÷9 = 47 r8

×

47

9

+

423

8

431

9) 611÷2 = 305 r1

×

305

2

+

610

1

611

10) 655÷4 = 327 r1

×

327

4

+

1308

1

1309

Answers

1. not

2. not

3. correct

4. not

5. correct

6. correct

7. correct

8. correct

9. correct

10. not



Name: Answer KeyChecking Division Answers

Math www.CommonCoreSheets.com 5

Check each answer. Determine if the answer is 'correct' or 'not'.

Division problems can be
checked by multiplying the

quotient by the divisor and then
adding the remainder.

If the answer is the same as the
dividend, it is correct.

263 ÷ 8 =32 r7

32
8

256
7

263

×

+

182 ÷ 6 =29 r5

29
6

174
5

179

×

+

1) 441÷5 = 88

×

88

5

+

440

0

440

2) 324÷9 = 46 r2

×

46

9

+

414

2

416

3) 833÷6 = 138 r5

×

138

6

+

828

5

833

4) 455÷3 = 151

×

151

3

+

453

0

453

5) 469÷2 = 234 r1

×

234

2

+

468

1

469

6) 732÷5 = 146 r2

×

146

5

+

730

2

732

7) 195÷9 = 21 r6

×

21

9

+

189

6

195

8) 431÷9 = 47 r8

×

47

9

+

423

8

431

9) 611÷2 = 305 r1

×

305

2

+

610

1

611

10) 655÷4 = 327 r1

×

327

4

+

1308

1

1309

Answers

1. not

2. not

3. correct

4. not

5. correct

6. correct

7. correct

8. correct

9. correct

10. not

1-10 90 80 70 60 50 40 30 20 10 0


